Tekst 4 Commitment, wedded or not

1p 6 What is the function of paragraphs 1 and 27?
A tointroduce Gottman’s stance on how to establish a healthy marriage
B to point out that a negative attitude towards one’s spouse may lead to
divorce
C to present the basis for Roberts’s ideas about relationships and
politics
D to question the validity of Gottman’s research on matrimony

1p 7 Which of the following statements about David Cameron is in line with the
contents of paragraphs 3 and 47
A He wants to promote marriage as an institution by introducing financial
benefits.
B His policy reflects the contemporary point of view on preferring
marriage to cohabitation.
C His primary objective is to coax people into marriage for financial gain.

“his views on marriage” (paragraph 95)
1p 8 Which of the following statements is in line with Cameron’s ideas about
marriage, judging from this article?

1 The costs of marriage breakdown are borne by the entire society, and
therefore it is reasonable for the entire society to demand support for
marriage.

2 The institution of marriage, over the past centuries, has come and

gone.

only 1 is true

only 2 is true

both 1 and 2 are true
neither 1 nor 2 is true
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1 9  Which of the following series of qualifications fits the string of gaps in
paragraph 67?

9a 9b 9c 9d
A | divisive illogical hypocritical illiberal
B  hypocritical illiberal illogical divisive
c |illiberal hypocritical divisive illogical
D illogical divisive illiberal hypocritical

1p 10 Wat is de onderliggende reden voor Camerons belastingmaatregel
volgens Yvonne Roberts?
Citeer de eerste twee woorden van de zin uit alinea 4-9 waar het
antwoord te vinden is.
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